## Construction division. Advice for giving credit to contractors/suppliers.

	No. – site bills		110			e - site t	oills	0	
	Company Name:		1190			Register		2-5-22	
1	ne of Contractor		mRm	LLY	Site			5	mR
-	ure of work			V	Bo	laker	ighn	a	
-	k done				Co	e c	utdi	na	
SI.			om Date	11	5-2.	) ) T	o Date	130	-4-22
No.	Villa/Flat/block	no.	Qty.	Rat	e	Units	Amou		Contractor
1.	P. Block	let	-16	1	011		1-70	4	bill no
2.	noi 401to	Link	10	1	015	roi	77	200	
3.	50/105	100						_	
4.	lore lute	ila		-	-	E en		-	
5.	State & Bear	2							
6.	work	3							
7.									
8.									
9.									
10.			•						
11.	T	otal:							
Bill req			10 = (				77	100/-	
Cardiova company company contracts			es Pno.		GST b	Il require		YES Z	NO.
stimate	ement &		quired			rement &	V	Enclose	ed
O/WO		□ No	t required	NAME AND ADDRESS OF THE OWNER, WHEN	AND DESCRIPTION OF THE PERSON NAMED IN COLUMN 1	e sheet:		Not end	
					PO/WC	date:		-	
lemark	A.	EL	work	Ł	Co	mflet	ed		
the contract of the contract o		-							
No.									
							the deliberation reasons are not as the second	-	The same of the sa
		and the same of							
	by Project Mana	iger	Approve	ed by I	Design '	Team	Approv	ed by N	(1)
te:	Non Al			Date:			Approved by M.D.  Date:		
n:	W.		Sign:			-	Annual angular requirement described an extension of the property of the prope		
s: 1. Thi	s advice must be sent	within 7	days of commit	**	1 0 0		Sign:		1

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

MEASUREMENT	SHEET							
Соправу Хапе	MRMallapurLLP					Approved b	by:	Ram prasad
Project.	Gulmohar Residency					Sign:		
Work Description:	Core cutting bill of D-block							
Commedia	V.Balakrshna							
Prepared By	P.Sai Kumar				1			
Dene	30.04.22							
			A	В	C	D	E= AxBxCxD	F
5 No.	ltem Head	Item Description	Length	Width	Height	Nos	Quantity	Units
1	D-block	Core cutting						
	D-401 to 408	5" hole in slab	1.00	1.00	1.00	96.00	96.00	Nos
	D-501 to508	4" hole in slab	1.00	1.00	1.00	48.00	48.00	Nos
		3" hole in slab	1.00	1.00	1.00	48.00	48.00	Nos
		5" hole in beam	1.00	1.00	1.00	32.00	32.00	Nos
		4" hole in beam	1.00	1.00	1.00	32.00	32.00	Nos
			1					

ESTIMATE SHE	ET					D	
Company Name:	MRMallapurLLP				Approved by:	Ram prasad	
Project:	Gulmohar Residency				Sign:		
Work Description:	Core cutting bill of D-	block					
Contractor:	V.Balakrishna						
Prepared By	P.Sai Kumar						
Date:	30.04.22						
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	
1	D-block	5" hole in slab	96.00	No's	300.00	28800.00	
	D-401 to 408	4" hole in slab	48.00	No's	275.00	13200.00	
		3" hole in slab	48.00	No's	250.00	12000.00	
		5" hole in beam	32.00	No's	375.00	12000.00	
		4" hole in beam	32.00	No's	350.00	11200.00	
	***************************************	T Hele III comm				77,200.00	

## Allowance for Consumables

V.Balakrishna, Mallapur.

Date: 30.04.22

In favor of:

MRMallapurLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Core cutting work

Towards:

Allowance for Consumables.

No. Description	Amount
1. Brief description of work done: Towards core cutting work done in D-401,402,403,404,405,406,407,408501,502,503,504,50 5,506,507,508. Total Amount = 77,200 /- Work done from date 10.03.22 to date 30.04.22	Rs. 15,440 /-

Amount in words: Fifteen Thousand Four hundred Fourty Rupees Only.

Sign: J. Belancoi Lie.

## **Bill for Equipment Allowance**

V.Balakrishna, Mallapur.

Date: 30.04.22

In favor of:

**MRMLLP** 

**Project / Site:** 

Gulmohar Residency

**Location:** 

Mallapur

Type of Work:

Core cutting bill.

Towards:

Allowance for Equipment

		Amount
S No.	Description	
1.	Brief description of work done: Towards core cutting work done in D-401,402,403,404,405,406,407,408501,502,503,504,50 5,506,507,508. Total Amount = 77,200 /- Work done from date 10.03.22 to date 30.04.22	Rs.30,880 /-

Amount in words: Thirty Thousand Eight Hundred Eighty Rupees Only.

Sign: V. VZalenconsher

## Bill for Labour Charges

V.Balakrishna, mallapur.

Date: 30.04.22

In favor of:

MRMall apur LLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work: Towards:

Core Cutting. Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Towards core cutting work done in D-401,402,403,404,405,406,407,408501,502,503,504,50 5,506,507,508. Total Amount = 77,200 /- Work done from date 10.03.22 to date 30.04.22	Rs.30,880 /-

Amount in words: Thirty Thousand Eight Hundred Eighty Rupees Only.

Sign: V-V3alanzvisha